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Maxwell's Equations Describing Electromagnetic Phenomena

Name

Equation

Description
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Gauss’s Law for
Electric Fields

Gauss’s Law for
Magnetic Felds

Faraday's Law of
Induction

Maxwell- Ampere
Law
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The net electric flux through 2 closed
surface is proportional to the net enclosed
electric charge.

The net magnetic flux through a closed
surface &s zero (no magnetic monopoles
exist)

An electric field is induced by a changing
magnetic flux

A magnetic field is induced by a changing
electric flux or by a current.
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